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F(A,B,C,D)=>,m"(0,1,5,7,8,11,14) + >,d"(3,9,12.15)

A d FoR TR, d e 455 N ERCF R TR I e /NG

fif . WA 3,18 Fras, il F iR K, cD

R F 4 kK Wik . F=ABC +ABD + BCD + A8~ 00 01 11 10
ABCD +ABCD ; 00 ['—L |

FI 29 o, 2 mi el 5 )74 F=BC +AD+CD+ABC; Or| 6 L1} O

WER I & Rl A B S RiE. 5 F = 1 [ x| o |[<][T1)]
BC+AD+CD+ABD., o |[T]x)|W] o

IR PG R AR S IE B 1Y 3.18 5 3.20 L E BB R

AL R T R 2 A RO AE— B . A
Bl 3. 18 AT LR th . S 2k v B AL fag 5, O 145 B e KBy R v B I ORI omy omy I
moys AL T B P S I LT e, BCH A O

Z]En 3
3.1 2 UL U 48 o A TIPS A LI

3.2 MraRmRIY A2t/ NI? F ORI /NS AT VRS 7
3.3 U AR R I AEW] T 51 R sis A
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(1) A@0o=A (2) AD1=A

(3) AA =0 (4) ADPA =1

(5) (ADBYDC=ADBDC) (6) A(BOC)=AB®DAC
(1) AOB=A@B=A®B®1 (8) AOBDA=B

3.4 JHZ KA BANE BAUE .

(1) ABODAB=AB-+AB

(2) (AGOB)OAB=AB

(3) A + ABC=ABC+ABC+ABC

(4) AB+BC+AC=AB+BC+AC
(5) AB+AB+AB+AB=1

E: AOB=AB+AB=A®B

3.5 HHTFAIRBEXEA .

() F,=(A+B)(A+C)(C+DE)+F

(2) F,=A+B+C+B+A+C+B+C

(3) F,—AB + CD » DAB
(4) F,=B(A®B)+BADC)

(5) F,=(COADBED)

3.6 G TR AIFRKRAY R

(D F,=U(x,x,txa, Tx ),

(2) F,=S(WHI(T+C)H+H

(3) F,=A(B+(CD+EF)G

(4) F,=AB+BC+AC+D)

3.7 IR IR)

(D B X+Y=X+Z.BaY=Z E#HHT? Kt

(2) B XY=XZ B4 Y=Z E#HS? RfFa?

3) BMX+Y=X+Z,H XY=XZ.B4Y=Z IEML? Ntta2
D B X+Y=X Y. B4 X=Y IEH? Hia2

3.8 FAILALTE T 5 KA

(1) F,=AB+AC+BC

(2) F,=AB+B+BCD

(3) F,=A+AB+AB-+AB

(4) F,=AB+AD+BD +ACD

3.9 N REER IR R de /NI RN T 3K R R R BT
(1) F,=(A+B+C)>(A+B)(A+B+C)(C+D)

(2) F,=ABC+ABC+ABC+AC

(3) F,=BC+D+D(B+C)(AC+B)
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(4) F,=CB+ABD-+ABCD +ABCD

3.10  FHRWEEEALTE T 50 R8I 5 iR (6 5 s ik UM i s 5 Rk
(1) F,=(A+B)(AB+C)

(2) F,=AB+ACD+AC+BC

(3) F,=BC+D+D(B+C)AD+B)

(4) F,(A,B,C.D)=>,m"(2,3,4,5,10,11,12,13)

(5) F;(A.B.C.D)= || M"'(2,4,6,10,11,12,13,14,15)

3,11 HIRIEENEALTE T 5 s, IR Ak o T 5 AR5 R

(1) F,=ABC+BC

(2) F,=(A+C)YA+B+C)A+B+0)

(3) F;=ABC +BCD +ABD

(1) F,—CDBC ABCD

3.12 X FHEAMHERFRA—42 R A B.C.D.ERME{THH F.A.B.C.D.E Rl fig
HPABH AL ER 8 1,8 3E ABCDE = A ,ABCDE =B ,ABCDE =C ,ABCDE =
D,ABCDE=E,

3.13  JH-Rim AR fa] B A Jo G I 1Y) % B ok 8Ok f 5] 5 8B A,

(D) F,(A.B.C.D)=>,m(0,2,7,13,15) + >.d(1,3,4,5,6,8,10)

(2) F, =CD(A @ B) +ABC +ACD .4 %4} AB +CD =0

(3) F; =(AB+B)CD +(A +B)(B + C) , 15 %1% 4 ACD + BCD =0
(4) F,(A,B.C.D)=>,m(2,3,7.8,11,14) + >,d (0,5,10,15)



